REREENARS BESNXHEE EARSTOVE: Ty
(B) F/H27TE4818 (¥) Fp284%3A318
#HEBUEN NEEUS (B A)
BEHE FHEMN REB) EZEW-B) 5%

REEZEMA 17,652,750 17,652,250 500

REMEEEIRA 17,594,750 17,594,750

ANEE 17,594,750 17,594,750
FARIZZH9FI AR A 10,000 9,500 500

ZDMDEBEZEIA 48,000 48,000

Iz WHEEEZEIA 48,000 48,000

A L EUEANON 48,000 48,000
AR Y SINA 8,000 7,595 405
AR Y SINA 8,000 7,595 405
ZD/DILA 158,000 157,760 240
FMAESNABEBIA 158,000 157,760 240
BEHRBEEIA 158,000 157,760 240
BEEEBWAE() 17,818,750 17,817,605 1,145
AGEEZH 14,249,597 14,222,083 27,514

BEHRH 6,299,424 6,299,424

Es 5,828,016 5,828,016

BFEBFL 157,008 157,008

BHEBFY 80,400 80,400

EERFY 96,000 96,000

ZTOMDFY 138,000 138,000

BEEEXH 2,496,073 2,496,073
FEEEHERE N 3,870,000 3,865,536 4,464
Es 3,780,000 3,775,536 4,464

5 90,000 90,000

EREHAATE 134,100 134,100

= BHtEEREER L RS 134,100 134,100
£ EEEME W 1,450,000 1,426,950 23,050
& EEEIH 1,738,000 1,719,182 18,818
- HWREXH 700,000 694,042 5,958
£ REHEEEBEIE 8,000 8,000
3 REMHEXZH 410,000 409,875 125
4z KEXBEZH (BEE) 356,000 355,554 446
x BREE 356,000 193,189 162811
" AFE 84,927 -84,927
53 KEHE 77,438 -77,438
o BMEEXH (B8 8,000 6,030 1,970
HERERREIH 95,000 93,546 1,454
Bzt (BXE) 85,000 84,420 580
X (BX#®) 76,000 75,715 285
EREXH 1,539,250 1,404,365 134,885
ERHEEBEXRE 115,000 113,988 1,012
REXEERH 170,000 168,290 1,710

HMIEMEESH 2,000 2,000
EREEREXE 130,000 128,318 1,682
FRIEAREX H 18,000 17,941 59

EREEXH 40,940 40,940
BIEEREIRE 100,000 93,769 6,231
SEEXH 120,000 120,000

[REREXH 56,160 56,160
FHHEZEH 400,000 397,917 2,083

RIEHEIZE (EEB) 83,550 83,550
EfgHxE (FHEE) 210,000 209,160 840

BB AEXH 2,600 2,600

HEBEXH 36,000 36,000
X (BEH) 55,000 53,732 1,268
Z Dt 55,000 53,732 1,268
BEEBIHEQ) 17,526,847 17,345,630 181,217
BEFHESIEHELEQG)=(1)-(2) 291,903 471,975 -180,072




z EUEEXH 285,044 285,044

% BRMEIEI N EEXH 85,044 85,044

s RERRN % 85,044 85,04

= | % ZOMOBEIEERE 200,000 200,000

ol et ANGEBELEEBIIH 200,000 200,000

1= WERSRBEBASTH 120,000 120,000

: AR S RA R X 120,000 120,000

IR Z DD EHFZ HEH(8) 285,044 405,044 ~120,000

% Z0MOEHESINEZE5(9)=(7)-8) 285,044 _405,044 120,000
LHE IR = EE A (11)=(3)+(6)+(9)-(10) 6,859 66,931 60,072
AR ZILEEERS(12) 4,255,876 -4,255,876
LHRRILEEES(11)+(12) 6,859 4,322,807 4,315,948
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